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SUMMATIVE ASSESSMENT - I - 2017- 2018
MATHEMATICS Paper - I

(English Medium)
PART-A& B
Class : X (Max. Marks : 40) Time : 2.45 Hrs.
Instructions :
1. 15Minut reading ion paper (Part A &B) in addition
102.30 hours for writing the answers.

Part -A answers should be written in a separate answer book.
There are three Sections in Part - A.

Answer all the questions.

Every answer should be visible and legible.

Thereis internal choice in Section - TTI.

._Part-A & B should be given at the beginning of the exam only.

Marks : 30 PART-A

EEE S

B

Section - T
Note: 1. Answer all the Questions.
2. Each Question carries 1 Mark 4x1=4
1. Ifxcm, 8 cmand 10 cm are the sides of aright angle triangle ABC and if the
smallest sideis x cm then find x. (Hint: use pythogorous theorm)

Tan4s" +Ce
2. Find th f
ind the value of ~os

3. Whyisthemode of first five pr b be defined? Give
4. AABC~ AXYZ thesides of A4BC areinaratioof 7: 24" 25. Then what type
oftriangleis Ayyz ? Just

Section - 11
e Questions.
2. Each Question carries 2 Marks 5x2=10

Note: 1. Answerall

Tan A+ TanB

S. Findthe Value of 7z ifA=607,

B=30"

6. Write the formula for finding mode fora grouped data and explain the variables
: 1
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7. Lengthand breadth ofa rectangleare (3++2)om. (-+2) Jom Find the length
ofis diagonal (Hint: use pythogorus principle)

$. TnatriangleABC, /(' =90’ and SinA:SinB=1 |3 - Find the value of Tan A.
(Hint:- SinB = Cos A)
9. Drawaroughdiagram for the following information.

"Ina trapezium ABCD, 75| T, Eand Fare points on non parallel ides AD.BC

repectively suchthat I | 4B,
Scetion - 11T
Note: 1, Answerall the Questions.
2. Each Question has internal choice
3. Each Question carries 4 Marks 4x4=16
10, a) Find the value of Tan 54, if Cos 7A = Sin (A- 6% and 7A s an acute angle
(Hint: 0° < 7TA<90")
(OR)
b)If Cosecd+ Cord =k The find the Value of Cosg in term ofk
11, &) The tablegiven below shows thedaily expenditure on food for 25 house holds
inalocality

Daly Expendicture | 100 - 15
in Rupees
No.ofhouse holds -

Find the mean of their daily expenditure.
% (OR)

b)Th patients admitted ina hospital during
ayear. Ifthe modeof the datais 37 and modal dass s 35 - 43 find out the missing
frquencyf

No.of Patients|




12

13

a)Tn the given figure 737 | OB and

e o 24 _ AN
| CD pre g ety
IN | CD prove that == ===

(Hint: use Basic proportionality theorer)
(OR)

b) Show that SecA+tan A

(Hint:- Sin*A +CosA = 1)

) Draw a line segment of length 7.3 cm and divide it in the ratio of 2 : 3

(OR)

N
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2
) Consiructa triangl similar toa given triangle ABC with s sides equalto

of ing sides of triangle A4BC
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SUMMATIVE ASSESSMENT - I - 2017-2018

MATHEMATICS PAPER - 1T
(English Medium)

Class X
Part-B
Time : 30minutes Marks : 10
Acadamic | Problem Solving | Reasoning | Commu Connetion| Visnalism|
Standards nication|
QNOs— [r]2[S[w[ufie2q 3] 4] 12]2225[ 6 26-29 I
Marks | E |12 P Il I
Total Marky . |
Name of th dent : RollNo.:
Note: P
1. Answer all question in Part - B
2. Each Question has 4 options. Write the capital letter indicating the
answer in the given brackets.
3. Marks are not awarded for over writing answers.
4. All questions carry equal marks.
14, 10-24,25-39, 40 - 54 are the class intervals. Difference between
lower boundary and lower limit of the class25 - 39 ( b
A1 B)0.S Q)15 D) 14

1
15 1fSin (A+B)=Sin (A-B)= 73 (0" = 4=90°) thenthe angle Als ( )
A)30° "B)®® C) 45° D) 90"
16, AABC ~ ADEF AB:DE
A)6em B)3cm C)2em D)15cm

17, Inaclassof 10 students a test with 5 Questions for each | mark was
conducted 4 of them write all S correctly. 3 of them wrote 3 correctly
and the remaining wrote none. Then the average mark of the classis ()’

)27 B)29 034 D)3

2:3and if DF=4.5cm then 4C=  ( )
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1
In AABC, ZC=90°. If TanA= —ﬁthmsinB: (
s B
Al B) V3 Ci D)
KU
AKLM ~APOR 16 5y =3 thenar AKIA - at APOR = (

‘MNZNE B4 @ | DBIT

Cumulative frequencies of classified data are 6,26, 50, 78,93, 97, 100
frequency of4th class = (

A)20 B)6 )28 D) 15

Sin30° + Cos60° +Tan45’ = (

1
A0 B)6 02 ) 7
Fromthe given figure which among these are correct? (

4B _4D A
e
BD

Dyl

< BD_4D
VBC AB B
D) Both B and C

1f mean and mode are equal for the data 14, 15, 13, 15,a, b then
the value of a +b =

A 1S B)18 )33 D)30

If 2.§in6 = Tan 45° (0° <6 <90°). then Tanf= (

1 2
AT B) 2Sin6 OF D)3
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25 1far APOR: ar ASTU =5:9,and PX,SY arealtitudes of these
57 = ( )
M5 B)S3 OV5:9 D)3

4B

triangles respectively, then PX

6. AABC,AXYZ 1

Pl o7 A s G
A) MBC ~ AXYZ B) AMBC = AXYZ
©) MBC = AXYZ D)Bothand C

27, Sino- e 5
A i=Tar'e B) i-Cos?0
o) Zmd D) Both B and ¢
) Sech St

28, Tnfinding Median fora grouped data A/ = /+

the letter " /" represents ( )
A)lower limit of median clan

B) Lower boundary of median class

) length of the class
D) Median class frequency
29. Sin22°= (Hint:- Cos(90° ~6") = Sin6") ( 3

A)Cos22° B)Cos78°  C)Cos68°. D)Sin68’
30.  Ifmean value of Tan 0°, Tan x’, Sin 30° is equals to sin30° thenx = ( )

A) 60° B)30° C) 45" D) 90"



Tnthe given figure AABC ZB= 90"

A
AB=Sin’6 + Cos"0 »
BC =Sec’0 —Tan* then AC
Al B)2
B @
(SR D) V2
The 'mode’ of the word SEPTEMBER is same as one of the
following word. Thenthe word s
A)JUNE B)JULY
©) OCTOBER D)DECEMBER
Ifaladder kept at a distance of 3mt from the foot of a wall touches
the wall at a height of 4mt then the length of the ladder is
(Hint:- use pythogorous principle)

A)3mt B)5mt Cy4mt

D)7mt




